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-1 for not writing your

The message m(t) is a periodic pulse train as shown in the figure. The signal is modulated using
AM.

1) Sketch the AM signal [A+m(?)] cos @t corresponding to the modulation index u =0.666667 = 2—?
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Good Luck, Dr. Ali Muqaibel
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The message m(t) is a periodic pulse train as shown in the figure. The signal is modulated using
AM.

1) Sketch the AM signal [A+m(?)] cos w.t corresponding to the modulation index ¢ =0.83333
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2) How much is the power efficiency in this case?
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Good Luck, Dr. Ali Mugaibel



